
Time: 10 Minutes Paper Math 7 (T-5) Total Marks: 10

1st Month, 2nd Week, 5th  Day Ex: 1.6 Q# 1 (I,II,II,IV,V,Vi,VII,VIII)

Q.No.1. Choose the correct option. (0.5 x 6 = 3) 
i) Solution of 70 +[10 + 20 - 2 {8 - 2 + 3]}  70 +[10 + 20 - 2 {8 - 2 + 3]}

(a) 78 (b) 80 (c) 82 (d) 84

ii) Solution of 25 - [5 + { 28 -(16  4 + 12)}]   25- [5 +{ 28- (164 + 12)}]

(a) 6 (b) 8 (c) -12 (d) 14

iii) The symbol of round or curved brackets is: 

(a) ------------- (b) (      ) (c) {     } (d) [      ]

iv) Solution of 12 8 -[64-{18(9-6-3)}]is:  12 8 -[64-{18(9-6-3)}]

(a) 28 (b) 30 (c) 32 (d) 34

v) At last wich bracket is solved? 
(a) (      ) (b) {     } (c) (d) -------------

vi) Solution of 9 3 -[28-{12(10- 6- 2)}]:  9 3 -[28-{12(10-6-2)}]

(a) 1 (b) 2 (c) 3 (d) 4

Q.No.2. Solve the following. (1 x 2 = 2) 

__________________________________________________________________

Q.No.3. Solve: (1 x 2 = 2) 

_________________________________________________________________
__________________________________________________________________
Q.No.4. Solve: (1 x 3 = 3) 

_________________________________________________________________
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